
 

1 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

 
 

COMBINED STATISTICAL SUBORDINATE SERVICES – 29/01/2023 
 

1. Which country becomes the fastest country in the world to administer 100 million doses 
of Covid-19 vaccine? 
a. India   b. Bhutan   c. Russia 
d. U.S.A   e. Answer not known 
cyfpy; ve;j ehL Kjd;Kjyhf 100 kpy;ypad; Nfhtpl;-19 jLg;G+rp nrYj;jg;gl;L 
,yf;if mile;jJ? 
a. ,e;jpah   b. G+lhd;   c. u~;ah 
d. mnkhpf;fh   e. tpil njhpatpy;iy 

 
2. The Dravidian Movement led to the formation of Dravida Kazhagam under the 

leadership of 
a. C.N. Annadurai   b. M. Karunanidhi  c. E.V. Ramasamy 
d. M.G. Ramachandran  e. Answer not known 
jpuhtpl ,af;fk;> jpuhtplf; fofj;ij _____ jiyikapy; cUthf top tFj;jJ. 
a. rp.vd;. mz;zhJiu  b. K. fUzhepjp  c. <.Nt. uhkrhkp 
d. vk;.[p. uhkr;re;jpud;  e. tpil njhpatpy;iy 

 
3. Which State was first formed on the basis of Linguistics in India? 

a. Kerala    b. Andhra   c. Karnataka 
d. Tamil Nadu   e. Answer not known 
,e;jpahtpy; Kjd; Kjypy; ve;j khepyk; nkhopthhp mbg;gilapy; mikf;fg;gl;lJ? 
a. Nfush    b. Me;jpuh   c. fh;ehlfk; 
d. jkpo;ehL    e. tpil njhpatpy;iy 
 

4. Who is called as the ‘Indian Shakespeare’? 
a. Kalidasa    b. Vishakhadatta  c. Shudraka 
d. Harisena    e. Answer not known 
‘,e;jpa N~f;];gpah;’ vd miof;fg;gLgth; ahh;? 
a. fhspjhrh;    b. tprhfjj;jh;  c. Rj;ufh; 
d. `hpNrdh;    e. tpil njhpatpy;iy 
 

5. Goods & Service Tax (GST) ____ based on destination. 
a. Consumption of Goods & Services   
b. Consumption of Agricultural Commodity 
c. Saving Pattern 
d. Consumption of Industrial Commodity 
e. Answer not known 
ruf;F kw;Wk; Nrit thp (GST) ____ ,yf;if mbg;gilahff; nfhz;lJ. 

a. nghUl;fs; kw;Wk; Nritfspd; Efh;T  
b. tptrhag; gz;lq;fspd; Efh;T 
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c. Nrkpg;G Kiw 
d. njhopy; gz;lq;fspd; Efh;T 
e. tpil njhpatpy;iy 
 

6. _____ Bank acts as Banker to the Central and State Government in India. 
a. Development Banks     b. State Bank of India  
c. Centre-State Co-operative Banks   d. Reserve Bank of India 

e. Answer not known 
_____ ,e;jpahtpy; kj;jpa-khepy muRfSf;F tq;fpahf nray;gLk; tq;fpahFk;. 
a. tsh;r;rp tq;fpfs;     b. ];Nll; ghq;f; Mg; ,e;jpah 
c. kj;jpa-khepyf; $l;LwT tq;fpfs;  d. ,e;jpa hprh;t; tq;fp 
e. tpil njhpatpy;iy 
 

7. Which Poligar did not made alliance with Virapandya Kattabomman? 
a. Poligar of Saptore     b. Poligar of Elayiram Pannai 
c. Poligar of Kadalgudi    d. Poligar of Sivagiri 
e. Answer not known 
ve;j ghisaf;fhuh; tPughz;ba fl;lnghk;kDld; $l;L itj;Jf; nfhs;stpy;iy? 
a. rhg;^h; ghisaf;fhuh;    b. Vohapuk; gz;iz ghisaf;fhuh; 
c. fhly; Fb ghisaf;fhuh;   d. rptfphp ghisaf;fhuh; 
e. tpil njhpatpy;iy 
 

8. Who among the following was considered as the first individual Satyagrahi in Tamil 
Nadu? 
a. Dr. T.S.S. Rajan   b. Vinoba Bhave  c. K. Kamaraj 
d. S. Satyamurthy   e. Answer not known 
jkpofj;jpd; Kjy; jdpegh; rj;ahfpufp vd;W fUjg;gLgth; ahh;? 
a. Kidth;. T.S.S uh[d;  b. tpNdhghghNt  c. f. fhkuhrh; 
d. v]; rj;a%h;j;jp   e. tpil njhpatpy;iy 
 

9. Among the following states, which State has the literacy rate (2011) higher than that of 
the National Average. 
a. Andhra Pradesh   b. Uttar Pradesh  c. Tamil Nadu 
d. Kerala    e. Answer not known 
gpd;tUk; khepyq;fspy; Njrpa ruhrhpiatpl fy;tp mwpT tpfpjk; (2011) mjpfkhf cs;s 
khepyk; vJ? 
a. Me;jpug; gpuNjrk;   b. cj;jpug;gpuNjrk;  c. jkpo;ehL 
d. Nfush    e. tpil njhpatpy;iy 
 

10. The Juvenile Justice Act 2015 came into force on 
a. January 14, 2016   b. January 15, 2016  c. January 16, 2016 
d. January 17, 2016   e. Answer not known 
rpwhh; ePjpr;rl;lk; 2015 nray;ghl;Lf;F te;j ehs; 
a. [dthp 14> 2016   b. [dthp 15> 2016  c. [dthp 16> 2016 
d. [dthp 17> 2016   e. tpil njhpatpy;iy 
 

11. The LCM of x3 – a3 and (x - a)2 is 
a. (x3 – a3)(x + a)   b. (x3 – a3)(x - a)2  c. (x - a)2(x2 + ax + a2) 

d. (x + a)2(x2 + ax + a2)  e. Answer not known 
x3 – a3 kw;Wk; (x - a)2 ,tw;wpd; kP.ngh.k 
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a. (x3 – a3)(x + a)   b. (x3 – a3)(x - a)2  c. (x - a)2(x2 + ax + a2) 
d. (x + a)2(x2 + ax + a2)  e. tpil njhpatpy;iy 
 

12. Complete the series : 
1, 1, 1.5, 3, 7.5, _____. 
a. 11  b. 25.5  c. 22.5  d. 10.5  e. Answer not known 
njhliu epiwT nra;f. 
a. 11  b. 25.5  c. 22.5  d. 10.5  e. tpil njhpatpy;iy 
 

13. In our planet, the flowering plants dominate in which region? 
a. Polar region    b. High Mountain region   
c. Plain and Hill regions   d. Dry desert region 
e. Answer not known 
ek;Kila G+kpapy; G+f;Fk; jhtuq;fs; ve;jg;gFjpapy; ngUk;ghd;ikahf cs;sJ? 
a. JUtg;gFjp     b. cah; kiyg;gFjp 
c. rkntsp kw;Wk; Fd;Wg; gFjpfs; d. twz;l ghiytdg; gFjp 
e. tpil njhpatpy;iy 
 

14. Which one of the following device is used for controlling particulate emission at power 
plants, cement and paper mills? 
a. Electrostatic precipitator    b. Catalytic converter 
d. Trickling filter     d. Sand filter 
e. Answer not known 
fPo;fhZk; fUtpfspy; vJ fhw;wpd; JfSU khRf;fis ePf;f kpd;rf;jp epiyaq;fs;> 
rpnkz;l; njhopw;rhiyfs;> fhfpjj; njhopw;rhiyfs; Mfpatw;wpy; gad;gLj;jg;gLfpwJ> 
a. epiykpd; tPo;gbthf;fp (vyf;l;Nuh];Nlbf; gphprpg;gpNll;lhh;) 
b. tpidA+f;f khw;wp (Nfl;lybf; fd;th;lh;) 
c. nrhl;LKiw tbfl;b 
d. kzy; tbfl;b 
e. tpil njhpatpy;iy 
 

15. Match the following: 
Festivals   States 
A. Losar   1. Telengana 
B. Bonalu   2. Ladakh 
C. Pooram   3. Asom 
D. Bihu   4. Kerala 
 A B C D 
a. 2 1 4 3 
b. 2 1 3 4 
c.  1 2 3 4 
d. 3 2 1 4 
e. Answer not known 
fPo;f;fhz;gitfis nghUj;Jf: 
tpohf;fs;   khepyq;fs; 
A. Nyhrhh;   1. njyq;fhdh 
B. NghdhY   2. ylhf; 
C. G+uk;    3. mNrhk; 
D. gpF   4. Nfush 
A B C D 
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a. 2 1 4 3 
b. 2 1 3 4 
c.  1 2 3 4 
d. 3 2 1 4 
e. tpil njhpatpy;iy 
 

16. Which of the following States has a Bicameral Legislature? 
1. Bihar 
2. Gujarat 
3. Karnataka 
4. Uttar Pradesh 
Select the correct answer using the Codes given below : 
a. 1, 2 3 and 4    b. 1, 3 and 4 only   c. 2, 3 and 4 only 
d. 1 and 4 only   e. Answer not known 
gpd;tUk; khepyq;fspy; <uit cs;s rl;lkd;wk; vit? 
1. gPfhh; 
2. F[uhj; 
3. fh;ehlfh 
4. cj;jpug;gpuNjrk; 
fPNo nfhLf;fg;gl;Ls;s FwpaPLfisg; gad;gLj;jpr; rhpahd tpiliaj; Njh;e;njLf;fTk;: 
a. 1> 2> 3 kw;Wk; 4  b. 1> 3 kw;Wk; 4 kl;Lk;  c. 2> 3 kw;Wk; 4 kl;Lk; 
d. 1 kw;Wk;; 4 kl;Lk;  e. tpil njhpatpy;iy 
 

17. The LPG Model of development was introduced by 
a. Rajiv Gandhi   b. Dr. Manmohan Singh  c. V.P. Singh 
d. Vajbhai    e. Answer not known 
LPG khjphp tsh;r;rpia mwpKfg;gLj;jpath; 
a. uh[Pt; fhe;jp   b. Dr. kd;Nkhfd; rpq;  c. tp.gp. rpq; 
d. th[;gha;    e. tpil njhpatpy;iy 
 

18. India’s First Five Year Plan was based on 
a. Harrod Domer Model  b. Alfred Marshal Model  c. Paul Samuelson 
d. A.K. Sen Index Model  e. Answer not known 
,e;jpahtpd; Kjy; Ie;jhz;L jpl;lk; _____ khjphpiag; gpd;gw;wpaJ. 
a. `uhl;-Nlhkh;   b. My;gpul; khh;~y;  c. ghy; rhKNty;rd; 
d. V.Nf. nrd; ,d;nlf;];  e. tpil njhpatpy;iy 
 

19. _____ movement was termed as ‘Congress Rebellion’. 
a. Non-Co-operation Movement  b. Simon Commission/Boycott Movement 
c. Civil disobedience Movement  d. Quit India Movement 
e. Answer not known 
______ ,af;fkhdJ “fhq;fpu]pd; fyfk;’ vd;W Fwpg;gplg;gl;lJ. 
a. xj;Jioahik ,af;fk;   b. irkd; FO / Gwf;fzpg;G ,afk; 
d. rl;l kWg;G ,af;fk;   d. nts;isaNd ntspNaW ,af;fk; 
e. tpil njhpatpy;iy 
 

20. Name the Tamilian who challenged the Maritime Might of the British Imperialism and 
the East India Company. 
a. Krishnamachari    b. V.O. Chidambaram Pillai 
c. E.V. Ramasamy    d. C. Rajaji 
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e. Answer not known 
gphpl;b~; kw;Wk; fpof;fpe;jpa fk;ngdpapd; flyhjpf;f typikf;F rthyhf ,Ue;j 
jkpodpd; ngaiu Fwpg;gpLf. 
a. fpU~;zkhr;rhhp   b. t.c. rpjk;guk;gps;is  c. <.Nt. uhkrhkp 
d. rp. uh[h[p    e. tpil njhpatpy;iy 
 

21. The Cradle Baby Scheme was launched in ______, by the Government of Tamil Nadu. 
a. 1991 b. 1992 c. 1993  d. 1994 e. Answer not known 
jkpof murhy;> ‘njhl;by; Foe;ijj; jpl;lk;’> ______ Mk; Mz;L njhlq;fg;gl;lJ. 
a. 1991 b. 1992 c. 1993  d. 1994 e. tpil njhpatpy;iy 
 

22. Which of the following is responsible for checking genuiness of community certificates? 
a. VAO alone      b. Tahsildar alone   
c. District Employment Office   d. District Level Vigilance Committee 
e. Answer not known 
rhjpr; rhd;wpjo;fspd; cz;ikj; jd;ikiar; rhpghh;j;J jUtjw;Fg; gpd;tUtdtw;Ws; 
ahh; nghWg;G? 
a. fpuhk eph;thf mYtyh; kl;Lk;   b. tl;lhl;rpah; kl;Lk; 
c. khtl;l Ntiytha;g;G mYtyfk;  d. khtl;l fz;fhzpg;Gf; FO 
e. tpil njhpatpy;iy 
 

23. If 1 + 2 + 3 + …. + K = 325, then find 13 + 23 + 33 + ….. + K3 
a. 105625    b. 52065   c. 67714 
d. 12730    e. Answer not known 
1 + 2 + 3 + …. + K = 325> vdpy; 13 + 23 + 33 + ….. + K3 -apd; kjpg;G fhz;f. 
a. 105625    b. 52065   c. 67714 
d. 12730    e. tpil njhpatpy;iy 
 

24. The missing term of the series: 
1, 8, 27, ?, 125, 216 
a. 49  b. 100  c. 64  d.46  e. Answer not known 
1, 8, 27, ?, 125, 216 vd;w njhlhpd; tpLgl;l cWg;igf; fhz;f. 
a. 49  b. 100  c. 64  d.46  e. tpil njhpatpy;iy 
 

25. Chipko movement was held under the leadership of 
a. Kailash Vidyarthi   b. Medha Patkar  c. Anna Hazare 
d. Sunderlal Bahuguna  e. Answer not known 
rpg;Nfh ,af;fj;ij Kd;dpd;W elj;jpath; 
a. ifyh~; tpj;ahh;jp  b. Nkjh gl;fh;  c. mz;zh `rhNu 
d. Re;jh;yhy; gFFzh  e. tpil njhpatpy;iy 
 

26. Natural selection theory was proposed by 
a. Lamarck    b. C.D. Darlington  c. Charles Darwin 

d. Henslow    e. Answer not known 
,aw;if Njh;T Nfhl;ghL Kd;nkhope;jth; 
a. nykhh;f;    b. C.D. lhh;ypq;ld;  c. rhh;y]; lhh;tpd; 
d. n`d;];Nyh   e. tpil njhpatpy;iy 
 

27. A layer of lose, heterogeneous material covering solid rock, is 
a. Batholith    b. Regolith   c. Granite 
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d. Marble    e. Answer not known 
jpl ghiwia gy;NtW tifg; nghUl;fs; #o;e;J fhzg;gLfpd;w> ,of;fkhd mLf;F 
vJ? 
a. ghj;Njhypj;    b. Nuf;Nghypj;    c. fpuhidl; 
d. khh;gps;    e. tpil njhpatpy;iy 
 

28. The river Cauvery divides itself into two channel at _____ as Coleroon and Cauvery. 
a. Villuppuram   b. Tiruchirapalli   c. Srirangam 

d. Madurai    e. Answer not known 
fhNthp ejpahdJ jdf;Fj;jhNd _____ vDk; ,lj;jpy; nfhy&d; kw;Wk; fhNthpahf 
,uz;L fhy;tha; ejpfshf gphpfpwJ. 
a. tpOg;Guk;    b. jpUr;rpuhg;gs;sp   c. =uq;fk; 
d. kJiu    e. tpil njhpatpy;iy 
 

29. Money Bill: 
1. Cannot be introduced in the Council of States 
2. Needs to be certified as such by the Speaker 
3. Can be amended by the Council of States 
4. President has to assent it without delay 
Select the correct answer using the Codes given below: 
a. 1, 2, 3 and 4   b. 1, 2 and 4 only  c. 2, 3 and 4 only 
d. 1 and 4 only   e. Answer not known 
gz kNrhjh: 
1. khepyq;fsitapy; ,ij mwpKfg;gLj;j KbahJ. 
2. Rghehauhy; rhd;wspf;fg;gl Ntz;Lk;. 
3. khepyq;fsitahy; jpUj;jg;glyhk;. 
4. FbauRj; jiyth; jhkjkpd;wp xg;Gjy; mspf;f Ntz;Lk; 
fPNo nfhLf;fg;gl;Ls;sit nfhz;L NkYs;s $w;Wfspy; vit rhpahdit vdj; 
Njh;njLf;fTk;: 
a. 1> 2> 3 kw;Wk; 4   b. 1> 2 kw;Wk; 4 kl;Lk; c. 2> 3 kw;Wk; 4 kl;Lk; 
d. 1 kw;Wk; 4 kl;Lk;  e. tpil njhpatpy;iy 
 

30. ____ model was the basis of Fourth Five Year Plan. 
a. Harrod-Domar Model  b. CELP Model  c. Mahalanobis Model 
d. Chakravarty’s Model  e. Answer not known 
_____ khjphp ehd;fhtJ Ie;jhz;L jpl;lj;jpd; mbg;gilahf ,Ue;Js;sJ.  
a. `NuhL-Nlhkh; khjphp  b. rp<vy;gp khjphp  c. kfhyNdhgp]; khjphp 

d. rf;uth;j;jpapd; khjphp  e. tpil njhpatpy;iy 
 

31. Rehabilitation of victims of alcoholism and Rehabilitation of beggars are the 
responsibility of  
a. Department of Human Resource  
b. Department of Labour and Employment 
c. Ministry of Social Justice and Empowerment 
d. None 
e. Answer not known 
kJTf;F mbikahdth;fSf;F kWtho;T mspg;gJ> gpr;irf;fhuh; kWtho;T ve;jj; 
Jiwapd; flik 
a. kdpjts Nkk;ghl;Lj;Jiw   

b. njhopyhsh; kw;Wk; Ntiytha;g;Gj; Jiw 
c. r%f ePjp kw;Wk; mjpfhukspj;jy; mikr;rfk; 
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d. vJTk; ,y;iy 
e. tpil njhpatpy;iy 
 

32. During Vellore Mutiny the Indian soldiers hoisted the flag of  
a. Tipusultan    b.  Arcot Nawab  c. Marathas 
d. Marudu Pandiyar  e. Answer not known 
NtY}h; fyfj;jpd; NghJ ,e;jpa uhZt tPuh;fs; ahUila nfhbia Vw;wpdhh;fs;? 
a. jpg;G Ry;jhd;   b. Mw;fhl;L ethg;  c. kuhj;jpah;fs; 
d. kUJ ghz;bah;fs;  e. tpil njhpatpy;iy 
 

33. The enquiry commission which enquired the Ramanathapuram incident (Collector 
Jackson and Kattabomman) consist of  
I. William Brown 
II. William Orm 
III. John Casmayor 
IV. S.R. Lushington 
a. I, II only   b. II, III only   c. III, IV only 
d. I, II and III only  e. Answer not known 
fnyf;lh; [hf;rd; kw;Wk; tPughz;ba fl;lnghk;kd; uhkehjGuk; re;jpg;G epfo;it Fwpj;J 
tprhhpf;f mikf;fg;gl;l tprhuiz FOtpy; ,lk; ngw;wth;fs; 
I. tpy;ypak; gpnusd; 
II. tpy;ypak; Xh;k; 
III. [hd; fh];Nkah; 
IV. v];.Mh;. y~;~pq;ld; 
a. I, II kl;Lk;   b. II, III kl;Lk;  c. III, IV kl;Lk; 
d. I, II kw;Wk; III kl;Lk; e. tpil njhpatpy;iy 
 

34. What is the animal in the logo of “Make in India” campaign? 
a. Elephant   b. Cow   c. Peacock 
d. Lion   e. Answer not known 
“Nkf; ,d; ,e;jpah” gpur;rhur; rpd;dj;jpy; cs;s tpyq;F vJ? 
a. ahid   b. gR    c. kapy; 
d. rpq;fk;   e. tpil njhpatpy;iy 
 

35. Who is the Reforming Luther of Hinduism? 
a. Raja Ram Mohan Roy    b. Dayananda Sarawathi 

c. Swami Vivekananda    d. Sri Ramakrishna Param 
e. Answer not known 
,e;J kjr;rPh;jpUj;jj;jpd; Y}jh; vdg;gLgth; ahh;? 
a. uh[huhk; Nkhfd;uha;    b. jahde;j ru];tjp 
d. Rthkp tpNtfhde;jh;    d. = uhkfpU~;z guk`k;rh; 
e. tpil njhpatpy;iy 
 

36. HCF of am+1, am+2, am+3 is 
a. am+3    b. am+2    c. a m+1 

d. am    e. Answer not known 
am+1, am+2, am+3 d; kPg;ngU nghJ tFj;jp vd;gJ 
a. am+3    b. am+2    c. a m+1 
d. am    e. tpil njhpatpy;iy 
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37. A milk man has 175 litres of cow’s milk and 105 litres of Buffalow’s milk. He wishes to 
sell the milk by filling the two types of milk in cans of equal capacity. Calculate the 
highest capacity of a can. 
a. 15 litre   b. 17 litre   c. 25 litre 
d. 35 litre   e. Answer not known 
xU ghy;fhuhplk; 175 ypl;lh; gRk;ghYk; 105 ypl;lh; vUikg;ghYk; cs;sJ. ,tw;iw 
mth; rk nfhs;ssTf; nfhz;l ,Utifahd fyd;fspy; milj;Jtpw;f 
tpUg;gg;gLfpwhh;. ,t;thW tpw;gjw;Fj; Njitg;gLk; fyd;fspd; mjpfgl;r nfhs;ssT 
vt;tsT? 
a. 15 ypl;lh;   b. 17 ypl;lh;   c. 25 ypl;lh; 
d. 35 ypl;lh;   e. tpil njhpatpy;iy 
 

38. Which among the following is an acid? 
a. CaO b. BaO  c. SiO2  d. Na2O e. Answer not known 
gpd;tUtdtw;wpy; mkpyk; vJ? 
a. CaO b. BaO  c. SiO2  d. Na2O e. tpil njhpatpy;iy 
 

39. Which of the following is a conservative force? 
a. Electrostatic force     b. Gravitational force 
c. Frictional force     d. Both (a) and (b) are correct 

e. Answer not known 
fPo;f;fz;ltw;Ws; vJ khwh tpir? 
a. epiy kpd;dpay; tpir    b. <h;g;gpay; tpir 
d. cuha;T tpir     d. (a) kw;Wk; (b) ,uz;Lk; rhp 
e. tpil njhpatpy;iy 
 

40. In the region of moderate rainfall, the average temperature in the month of January and 
July varies between. 

a. 16C - 30C   b. 18C - 32C  c. 20C - 34C 

d. 22C - 36C   e. Answer not known 
kpjkhd kiog;nghopT gFjpapy;> [dthp kw;Wk; [_iy khjj;jpd; ruhrhp ntg;gepiyapd; 
NtWghL 
a. 16C - 30C   b. 18C - 32C  c. 20C - 34C 

d. 22C - 36C   e. tpil njhpatpy;iy 
 

41. The oldest inhabitants of India are considered to be 
a. Mongoloids   b. Negritoes   c. Indo-Aryans 
d. Mediterraneans   e. Answer not known 
,e;jpahtpd; goikahd Fbkf;fs; vd;W fUjg;gLfpwth;fs; 
a. kq;Nfhypah;fs;   b. ePf;Nuhf;fs;   c. ,e;Njh-Mhpah;fs; 
d. kj;jpa jiufly; tho; kf;fs; e. tpil njhpatpy;iy 
 

42. Which part of the Indian Constitution deals with Fundamental Duties? 
a. Part II   b. Part III   c. Part IV A 

d. Part V   e. Answer not known 
,e;jpa murikg;gpy; mbg;gilf; flikfs; ve;jg; gFjpapy; vLj;Jiuf;fg;gl;Ls;sJ? 
a. ghfk; II   b. ghfk; III   c. ghfk; IV A 
d. ghfk; V   e. tpil njhpatpy;iy 
 

43. The writ of ‘Mandamus’ means 
a. To have the body of  b. To forbid   c. To certify   
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d. We command   e. Answer not known 
‘hpl; Mg; Nkz;lK];’ vd;gjd; nghUs; (Writ of Mandamus) 
a. Ml;nfhzh;T   b. jil nra;jy;  c. rhd;wspj;jy; 
d. MizapLjy;   e. tpil njhpatpy;iy 
 

44. In Tamil Nadu which year the Staff Selection Board was established by Panagal 
Ministry? 
a. 1916 b. 1920 c. 1924  d. 1923 e. Answer not known 
gdfy; mikr;ruitapd; NghJ jkpo;ehl;by; gzpahsh; Njh;T thhpak; ve;j Mz;L 
epWtg;gl;lJ.? 
a. 1916 b. 1920 c. 1924  d. 1923 e. tpil njhpatpy;iy 
 

45. Jinnah announced his 14 points on 
a. December 13, 1928  b. December 31, 1928 c. December 13, 1929 
d. December 31, 1929  e. Answer not known 
[pd;dh> jdJ 14 mk;r jpl;lj;ij mwptpj;j ehs; 
a. brk;gh; 13> 1928   b. brk;gh; 31> 1928  c. brk;gh; 13> 1929 
d. brk;gh; 31> 1929   e. tpil njhpatpy;iy 
 

46. Which English Army Officer attacked the Panchalamkurichi Fort in 1783? 
a. William Flint   b. William Fullerton  c. Bannerman 
d. Collin Maucaulay  e. Answer not known 
ve;j Mq;fpy gil mjpfhhp 1783-y; ghQ;rhyq; Fwpr;rp Nfhl;ilia jhf;fpdhh;? 
a. tpy;ypak; gpspd;l;   b. tpy;ypak; Gy;yh;ld; c. ghdh;Nkd; 
d. fhypd; nkf;fhNy   e. tpil njhpatpy;iy 
 

47. Marudu Pandyan and Vella Marudu were executed at the fort of  
a. Tiruppatur   b. Vellakottai   c. Thirumayam 
d. Dindigul    e. Answer not known 
kUJghz;bad; kw;Wk; nts;is kUJ J}f;fpyplg;gl;l Nfhl;il 
a. jpUg;gj;J}h;   b. nts;isf;Nfhl;il c. jpUkak; 
d. jpz;Lf;fy;    e. tpil njhpatpy;iy 
 

48. In how many years will ` 2,000 become `3,600 at 10% p.a. simple interest? 
a. 2 years    b. 16 years   c. 8 years 

d. 10 years    e. Answer not known 
vj;jid Mz;Lfspy; ` 2,000 MdJ Mz;Lf;F 10% jdp tl;bapy; `3,600 Mf khWk;? 
a. 2 Mz;Lfs;   b. 16 Mz;Lfs;  c. 8 Mz;Lfs; 
d. 10 Mz;Lfs;   e. tpil njhpatpy;iy 
 

49. If Meena given an interest of ` 45 for one year at 9% per annum and she has borrowed 
the amount of ` 4x, then find x 
a. 500  b. 250  c. 125  d. 75  e. Answer not known 
kPdh 9% tl;btPjj;jpy; xUtUlj;jpw;fhd jdptl;b ` 45 jUfpwhh; kw;Wk; mth; fldhfg; 
ngw;w njhif ` 4x vdpy; x-d; kjpg;G fhz;f. 
a. 500  b. 250  c. 125  d. 75  e. tpil njhpatpy;iy 
 

50. The sum of two numbers is 116
2

3
% of the second number. Then, the ratio of first number 

to second number is 
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a. 1 : 6   b. 3 : 7  c. 7 : 3  d. 7 : 4  e. Answer not known 

,U vz;fspd; $LjyhdJ ,uz;lhk; vz;zpd; 116
2

3
% vdpy; Kjy; kw;Wk; ,uz;lhk; 

vz;fSf;F ,ilNa cs;s tpfpjk; 
a. 1 : 6   b. 3 : 7  c. 7 : 3  d. 7 : 4  e. tpil njhpatpy;iy 
 

51. 6 pipes are required to fill a tank in 1 hour 20 minutes. How long will it take if only 5 
pipes of the same type are used? 
a. 1 hour 36 minutes b. 1 hour 26 minutes c. 1 hour 50 minutes 
d. 1 hour 56 minutes d. Answer not known 
rk msTs;s 6 Foha;fs; 1 kzp 20 ekplq;fspy; xU jz;zPu; njhl;bia epug;GfpwJ 
vdpy; mNj msTs;s 5 Foha;fs; mj;njhl;bia vt;tsT Neuj;jpy; epug;Gk;? 
a. 1 kzp 36 epkplq;fs; b. 1 kzp 26 epkplq;fs; c. 1 kzp 50 epkplq;fs; 

d. 1 kzp 56 epkplq;fs; e. tpil njupatpy;iy 
 

52. Escape velocity is  
a. Constant for all planets     b. Varies planet to planet 

c. Smaller in inner planets than outer planets  d. It is applicable only in earth 
d. Answer not known 
tpLgL jpirNtfkhdJ 
a. midj;J Nfhs;fSf;Fk; khwhjJ   
b. NfhSf;F Nfhs; khWgLk; 
c. cl;Gw Nfhs;fspy; ntspg;Gw Nfhs;fis tpl FiwT  
d. Gtpf;F kl;Lk; nghUe;Jk; 
e. tpil njupatpy;iy 
 

53. Octane Number is zero for  
a. n-Heptane   b. Isooctane   c. n-Hexane 
d. Isoheptane   d. Answer not known 
gpd;tUtdtw;Ws; vJ Mf;Nld; vz; G+[;[pak; Mf cs;sJ? 
a. n-n`g;Nld;  b. INrhMf;Nld;  c. n-n`f;Nrd; 

d. INrhn`g;Nld;  e. tpil njupatpy;iy 
 

54. Identify the incorrect justification for the statement given below: 
India’s population is in a stage, where birth rate is falling, death rate also falling and 
population continues to grow: 
a. Family Planning    b. Increase in social responsibility 

c. Increase in standard of living  d. Changing status of women 
e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s $w;wpw;f;fhd rupay;yhj tpsf;fj;jpid fz;lwpf. 
“,e;jpa kf;fl;njhifapy; epiy vt;thWs;snjd;why; gpwg;G tpfpjk; Fiwe;J 
nfhz;bUf;fpwJ. ,wg;G tpfpjKk; Fiwe;J nfhz;bUf;fpwJ. NkYk; kf;fl;njhif 
tsu;e;J nfhz;Nl ,Uf;fpwJ”. 
a. FLk;g fl;Lg;ghL    b. rKjha nghWg;G mjpfupj;jy;  
c. tho;f;ifj; jujk; mjpfupj;jy;  d. khw;wk; milAk; ngz;fs; epiy 
e. tpil njupatpy;iy 
 

55. During Delhi Sultanate period “Kharaj” was a type of tax levied on  
a. House   b. Agricultural land   c. Religion 
d. Trade  e. Answer not known 
nly;yp Ry;jhdpah;fspd; fhyj;jpy; “fuh[;” vd;gJ vjd; kPJ tpjpf;fg;gl;l tup  
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a. tPL   b. tptrha epyk;   c. rkak; 
d. tzpfk;  e. tpil njupatpy;iy 
 

56. Which of the following is true about Women Empowerment? 
I. Increase involvement of women in Decision Making 
II. Encouragement of Women Entrepreneurship 
III. Initiation of measures to improve working conditions of women in the informal 
sector 
a. (I) only   b. (I) and (II) only  c. (I) and (II) only 
d. All (I), (II) and (III) e. Answer not known 
ngz;fs; Nkk;ghL Fwpj;Jf; fPo;tUtdtw;Ws; vJ/vit rupahdJ/rupahdit? 
I. KbntLj;jypy; ngz;fspd; <Lgghl;bid mjpfupj;jy; 

II. ngz;fisj; njhopy; KidNthuhf Cf;Ftpj;jy; 
III. Kiwrhuh mikg;Gfspy; ngz;fspd; gzpepiyapid Nkk;gLj;Jtjw;fhd 
eltbf;iffisj; njhlq;Fjy; 
a. (I) kl;Lk;     b. (I) kw;Wk; (III) Mfpad kl;Lk; 
c. (I) kw;Wk; (II) Mfpad kl;Lk;  d. (I)> (II) kw;Wk; (III) Mfpait 
e. tpil njupatpy;iy 
 

57. Cripps Mission proposal was a “Post-dated cheque” was said by 
a. Nehru  b. M.A. Jinnah  c. Gandhiji 

d. Sardar Patel e. Answer not known 
fpupg;g]; J}Jf; FOtpd; jPu;khdj;ijg; “gpd; Njjpapl;l fhNrhiy” vd;W $wpatu; 
a. NeU  b. M.A. [pd;dh  c. fhe;jp[p 
d. rh;jhh; gNly; e. tpil njupatpy;iy 
 

58. Who was the President of Madras Session of Congress in 1914? 
a. Bhupendra Nath Bose  b. Madan Mohanmalviya 
c. Vijaya Ragavachariyar  d. M.A. Anjari  
e. Answer not know 
1914-y; nrd;idapy; ele;j ,e;jpa Njrpa fhq;fpu]; khehl;bd; jiytuhf ,Ue;jth; 
ahh;? 
a. G+Nge;jpu ehj; Ngh];  b. kjd; Nkhfd; khstpah   
c. tp[auhfthr;rhhpahh;  d. vk;.V. mQ;rup 
e. tpil njupatpy;iy 
 

59. Who was the First Woman President of Indian National Congress? 
a. Anandibhai Joshi  b. Annie Besant   c. Pandita Ramabai 
d. Swarnakumari  e. Answer not known 
,e;jpa Njrpa fhq;fpurpd; Kjy; ngz; jiytu; ahu;? 
a. Mde;jpgha; N[h~p b. md;dpngrd;l;  c. gz;bj ukhgha; 
d. ];th;zFkhup  e. tpil njupatpy;iy 
 

60. Annie Beasant with support of Arundale and Wadia formed the Home Rule League at 
Madras in the year 
a. 1912   b. 1914  c. 1915 
d. 1916   e. Answer not known 
md;dpngrd;l;> mUz;Nly; kw;Wk; thbah MjuTld; nkl;uh]py; jd;dhl;rp ,af;fk; 
(N`hk; &k; yPf;) cUthf;fg;gl;l Mz;L 
a. 1912   b. 1914  c. 1915 
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d. 1916   e. tpil njupatpy;iy 
 

61. If a principle is getting doubled after 4 years, then calculate the rate of interest. 
a. 5%  b. 15%  c. 25%  d. 35%  e. Answer not known 
Xu; mryhdJ 4 Mz;Lfspy; ,uz;L klq;fhfpwJ vdpy; tl;b tPjj;ijf; fhz;f. 
a. 5%  b. 15%  c. 25%  d. 35%  e. tpil njupatpy;iy 
 

62. Supposing a clock takes 7 seconds to strike 7, how long does it take for the same clock 
to strike 10? 
a. 16.5 seconds  b. 14.5 seconds  c. 12.5 seconds 
d. 10.5 seconds  e. Answer not known 
xU fbfhuk; 7-iaj; jhf;f 7 tpdhbfs; MFk; vd;W itj;Jf; nfhs;Sq;fs;> mNj 
fbfhuk; 10-iaj; jhf;f vt;tsT Neuk; MFk;. 
a. 16.5 tpdhbfs;  b. 14.5 tpdhbfs;  c. 12.5 tpdhbfs; 
d. 10.5 tpdhbfs;  e. tpil njupatpy;iy 
 

63. A1, C3, F6, J10, O15,? 
a. U21  b. V21  c. T20  d. U20  e. Answer not known 
A1, C3, F6, J10, O15,? 
a. U21  b. V21  c. T20  d. U20  e. tpil njupatpy;iy 
 

64. Ages of two persons are in the ratio 1 : 3, product of their ages is 48. What is the 
difference of ages? 
a. 2  b. 12  c. 8  d. 4  e. Answer not known 
,U egu;fspd; taJfspd; tpfpjk; 1:3> taJfspd; ngUf;fw;gyd; 48 vdpy; mth;fspd; 
taJfspd; tpj;jpahrk; vd;d?  
a. 2  b. 12  c. 8  d. 4  e. tpil njupatpy;iy 
 

65. Match correctly the findings the corresponding scientists: 
A. Visvesvaraya    1. Fabrication of ultralight aircraft 
B. Venkatraman Radhakrishnan  2. Automatic sluice gates 
C. Chandrasekhar    3. Instrument to measure the Weight and 
           pressure of solar rays  
D. Meghnadsaha    4. Radiation of energy from stars   

A B C D 
a. 2 4 1 3 
b. 2 1 4 3  
c. 2 3 1 4  
d. 1 2 4 3 
e. Answer not known  
gpd;tUk; mwptpayhsh;fspd; ngau;fNshL mth;fspd; fz;Lgpbg;Gfisg; nghUj;Jf. 
A. tp];Nt];tuhah   1. kpf ,yFuf tpkhdj;ij tbtikj;jy; 
B. ntq;fl;uhkd; uhjhfpU~;zd; 2. jhdpaq;fp kjF fjTfs; 
C. re;jpuNrfu;   3. #upaf; fjpu;fspd; vil kw;Wk; mOj;jj;jpid 

   mstpLtjw;fhd fUtp 
D. Nkf;ehj;rh`h   4. el;rj;jpuq;fspypUe;J Mw;wy; fjpu;tPr;R 

 
A B C D 

a. 2 4 1 3 
b. 2 1 4 3  
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c. 2 3 1 4  
d. 1 2 4 3 
e. tpil njupatpy;iy 
 

66. Match the List I with List II and select the correct answer form the codes given below in 
the Lists: 
List I      List II 
A. Buland Darwaza, Fatehpur Sikri 1. Alauddin Khilji 
B. Alai Darwaza, Delhi   2. Akbar 
C. Moti Masjid, Delhi   3. Shahjahan 
D. Moti Masjid, Agra   4. Aurangazeb 
     Codes: 

A B C D 
a.  1 2 3 4 
b. 2 1 4 3 
c. 1 2 4 3 
d. 4 1 3 2 
e. Answer not known 
fPo;f;fz;l tupirg;gl;bay; I> II fPNo nfhLf;fg;gl;Ls;s FwpaPLfisf; nfhz;L rupahd 
tpilfis nghUj;Jf. 
tupir I     tupir II 
A. Gye;j; jh;thrh> gNjg;G+up rpf;up  1. myhTjpd; fpy;[p 
B. myha; jh;thrh> by;yp   2. mf;gh; 
C. Nkhjp k#jp> by;yp   3. mf;gu; 

D. Nkhjp k#jp> Mf;uh   4. xsuq;frPg; 
   FwpaPLfs;: 

A B C D 
a.  1 2 3 4 
b. 2 1 4 3 
c. 1 2 4 3 
d. 4 1 3 2 
e. tpil njupatpy;iy 

 
67. The Constitution of India was finally adopted on 

a. 26 December 1949  b. 26 January 1950  c. 26 November 1949 
d. 30 November 1949 e. Answer not known 
,e;jpa murikg;G KOikahf Vw;Wf;nfhs;sg;gl;l Mz;L 
a. 26 brk;gu; 1949  b. 26 [dtup 1950  c. 26 etk;gu; 1949 
d. tpil njupatpy;iy e. tpil njupatpy;iy 
 

68. What mode of movement contributed much to the birth of Gandhian Nationalism? 
a. Militant Movement b. Left-leaning Movement  c. Peasant Movement 
d. Tribal Movement  e. Answer not known 
ve;j tif r%f ,af;fk; fhe;jpa Njrpaj;jpw;F nghpJk; gq;fspj;jJ? 
a. Nghhpay; ,af;fk;  b. ,lJrhhp ,af;fk;  c. coth; ,af;fk; 
d. goq;Fb ,af;fk;  e. tpil njupatpy;iy 
  

69. Lala Lajpat Rai was died on 
a. 17, November, 1926  b. 17, November, 1927 c. 17, November, 1928 

d. 17, November, 1929  e. Answer not known 
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yhyh y[gjpuha; ,we;jJ vg;NghJ? 
a. 17> etk;gu; 1926   b. 17> etk;gu; 1927  c. 17> etk;gu; 1928 
d. 17> etk;gu; 1929   e. tpil njupatpy;iy 
 

70. Who participated in the “International Women’s Suffrage Alliance Congress” held on 
1926? 
a. Annie Besant   b. Maniyammai c. Rukmani Lakshmipathy 
d. Vijaya Lakshmi Pandit  e. Answer not known 
1926 Mk; Mz;L eilngw;w “mfpy cyf ngz;fs; thf;Fupik xd;wpa khehl;by;” 
,e;jpahtpd; rhh;gpy; gq;Nfw;wth; ahh;? 
a. md;dpngrd;l;   b. kzpak;ik   c. Uf;kzp yl;Rkpgjp 
d. tp[a yl;Rkp gz;bl;  e. tpil njupatpy;iy 
 

71. Name the Captain of ‘Udayal Padai’ of Queen Velu Nachiyar of Sivaganga: 
a. Vellachi    b. Lakshmi   c. Kuyili 

d. Muthathal   e. Answer not known 
rptfq;if NtYehr;rpahhpd; ‘cilahs; gilf;F’ jiyikNaw;wthpd; ngaiu Fwpg;gpLf. 
a. nts;sr;rp   b. y~;kp   c. Fapyp 
d. Kj;jhj;jhs;  e. tpil njupatpy;iy 
 

72. A London monument is marked as follows: MDCLXVI 
What number does it represent? 
a. 1666  b. 11166   c. 111516 
d. 1515151  e. Answer not known 
,yz;;ldpy; cs;s xU epidTr; rpd;dj;jpy; MDCLXVI vd nghwpf;fg;gl;Ls;sJ. ,J 
Fwpf;Fk; vz; vJ? 
a. 1666  b. 11166   c. 111516 
d. 1515151  e. tpil njupatpy;iy 
  

73. At what time will a sum of Rs. 3,000 will amount to Rs. 3,993 at 10% p.a. compounded 
annually. 
a. 4 years   b. 1 year   c. 2 years 
d. 3 years   e. Answer not known 
mry; &. 3>000 Mz;Lf;F 10% $l;L tl;b tPjg;gb> &. 3>993 Mf vj;jid Mz;Lfs; 
MFk;? 
a. 4 Mz;Lfs;  b. 1 Mz;L   c. 2 Mz;Lfs; 
d. 3 Mz;Lfs;  e. tpil njupatpy;iy 
 

74. Iniyan bought 5 dozen eggs. Out of that 5 dozen eggs, 10 eggs are rotten. Express the 
number of good eggs as percentage. 
a. 12%    b. 83.33%   c. 8.33% 
d. 10%    e. Answer not known 
,dpad; 5 lrd; Kl;ilfis thq;fpdhh;. Mjpy; 10 Kl;ilfs; nfl;Ltpl;lhy;> ey;y 
Kl;ilfspd; rjtPjj;ijf; fhz;f. 
a. 12%    b. 83.33%   c. 8.33% 
d. 10%    e. tpil njupatpy;iy 
 

75. A dealer allows a discount of 10% and still gains 10%. What is the cost price of the book 
which is marked at Rs. 220? 
a. Rs. 120   b. Rs. 150   c. Rs. 180 
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d. Rs. 220   e. Answer not known 
xU Gj;jfj;jpd; tpiyapy; 10% js;Sgb nra;jhYk; xU tpahghhpf;F 10% ,yhgk; 
fpilf;fpwJ. mg;Gj;jfj;jpd; Fwpj;j tpiy Rs. 220 vdpy; mjd; mlf;ftpiy ahJ? 
a. Rs. 120   b. Rs. 150   c. Rs. 180 
d. Rs. 220   e. tpil njupatpy;iy 
 

76. Which of the following Mars space craft program are/is incorrectly paired. 
1. Tianwen -1- Planetary Exploration – China 
2. United Arab Emirates – Hope Orbiter 
3. NASA – Perseverance rover 
4. India- Technology demonstrator satellite 
a. 1 and 2 only    b. 2 and 3 only  c. 4 only 
d. 1,2 and 3 only    e. Answer not known 
gpd;tUtdtw;wpy; ve;j nrt;tha; tpz;fy jpl;lq;fs; / jpl;lk; jtwhf 
,izf;fg;gl;Ls;sJ? 
1. bahd;ntd;-1- Nfhs;fspd; Ma;T – rPdh 
2. If;fpa muG vkPufj;jpd; tpz;fyk; - ek;gpf;if Mh;gpl;lh; 
3. NASA – tplhKaw;rp Nuhth; 
4. ,e;jpah- njhopy; El;g nray;tpsf;f nraw;iff; Nfhs; 
a. 1 kw;Wk; 2 kl;Lk;    b. 2 kw;Wk; 3 kl;Lk;  c. 4 kl;Lk; 
d. 1>2 kw;Wk; 3 kl;Lk;   e. tpil njhpatpy;iy 
                               

77. Who was the founder of Bahmani Kingdom? 
a. Malik Kafur    b. Bukka   c. Harihara 
d. Alauddin Hasan Bahmani Shah e. Answer not known 
ghkpdp murpidj; Njhw;Wtpj;jth; 
a. khypf;fG+h;     b. Gf;fh;   c. `hp`uh 
d. myhTjPd; `rd; gh`;kd; ~h  e. tpil njhpatpy;iy 
 

78. ‘The National Social Conference’ was organized by  
a. Pandita Ramabai    b. M.G. Ranade 

c. Dhondu Kheshave   d. Virasalingam Pantulu 
e. Answer not known 
‘Njrpa r%f khehL’ $l;lj;ij xUq;fpizj;jth; 
a. gz;bj ukhgha;   b. vk;.[p.uhdNl  c. Njhe;J Nfrt; 
d. tPurypq;fk; ge;JY  e. tpil njhpatpy;iy 
 

79. Match the following: 
High Court   Year of Establishment 

 A. Allahabad    1. 1884 
 B. Karnataka    2. 1916 
 C. Patna    3. 1866 
 D. Madras    4. 1862 
  A B C D 
 a.  3 1 2 4 
 b.  1 3 4 2 
 c. 4 1 3 2 
 d.  1 4 2 3 
 e.  Answer not known 
 gpd;tUtdtw;iwg; nghUj;Jf. 
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   cah;ePjpkd;wk;   njhlq;fg;gl;l Mz;L 
 A. myfhghj;     1. 1884 
 B fh;ehlfh     2. 1916 
 C. ghl;dh     3. 1866 
 D. kjuh];     4. 1862 
  A B C D 
 a.  3 1 2 4 
 b.  1 3 4 2 
 c. 4 1 3 2 
 d.  1 4 2 3 
 e.  tpil njhpatpy;iy 
 
80. Which of the following is correctly matched? 

a. V.D. Savarkar  - 1857 Sepoy Mutiny 
b. Vallabhai Patel  - First Prime Minister 
c. Annie Besant  - Arya Samaj 
d. C.R. Das   - Simon Commission 
e. Answer not known  
fPo;fz;ltw;Ws; rhpahd $w;W vJ? 
a. tp.b. rthh;f;fh;  -  1857 rpg;gha;f; fyfk; 
b. ty;ygha; gNly;  - Kjy; gpujk ke;jphp 
c. md;dpngrd;l;   - Mhpa rkh[k; 
d. rp.Mh;.jh];   -  irkd; FO 
e. tpil njhpatpy;iy 
   

81. The coins of Sangam Cholas were unearthed by the archaeologists at  
a. Arikkamedu   b. Karur   c. Thanjavur 
d. Uraiyur    e. Answer not known 
ve;j ,lj;jpy; rq;ffhy Nrhoh;fspd; fhRfs; njhy;ypayhsh;fshy; fz;Lgpbf;fg;gl;ld? 
a. mhpf;fNkL    b. f&h;   c. jQ;rhT+h; 

d. ciwA+h;    e. tpil njhpatpy;iy 
 

82. Which district in Tamil Nadu has the lowest child sex ratio as per the census in 2011? 
a. Madurai    b. Theni   c. Vellore 
d. Cuddalore    e. Answer not known 
jkpo;ehl;by; 2011 kf;fs; njhif fzf;nfLg;gpd;gb ve;j khtl;lj;jpy; Foe;ijg; ghypd 
tpfpjk; Fiwthf cs;sJ? 
a. kJiu    b. Njdp   c. NtY}h; 
d. flY}h;    e. tpil njhpatpy;iy 
 

83. King Karikalan of Chola dynasty constructed a dam on River Cauvery. It is known as 
a. Vaigai Dam   b. Papanasam Dam   c. Kallanai 

d. Sathanoor Dam   e. Answer not known 
fhpfhy Nrhod; fhtphpapd; FWf;Nf fl;ba mizapd; ngah; vd;d? 
a. itif miz   b. ghgehrk; miz  c. fy;yiz 
d. rhj;jD}h; miz   e. tpil njhpatpy;iy 

 
84. The length and breadth of a rectangular field are in the ratio 3:2. If the area of the field 

is 3456 m2, find the cost of fencing the field at Rs. 3.50 per metre. 
a. Rs. 12, 096    b. Rs. 2,016   c. Rs. 84 



 

17 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

d. Rs. 840    e. Answer not known 
xU nrt;tf taypd; ePsk; kw;Wk; mfyk; 3:2 vd;w tpfpjj;jpy; cs;sd. taypd; 
gug;gsT 3456 kP2 Mf ,Ue;jhy; taYf;F Ntyp mikg;gjw;fhd nryit kPl;lUf;F 
&.3.50 tPjk; fhz;f. 
a. &. 12, 096    b. &. 2,016   c. &. 84 
d. &. 840    e. tpil njhpatpy;iy 
  

85. A metallic sphere of radius 16 cm is melted and recast into small spheres each of radius 
2 cm. How many small spheres can be obtained? 
a. 496  b. 512  c. 672  d. 768  e. Answer not known 
16 nr.kP. MuKs;s Xh; cNyhf ge;J> cUf;fg;gl;L 2 nr.kP. MuKs;s rpW 
ge;Jfshf;fg;gl;lhy;> vj;jid ge;Jfs; fpilf;Fk;? 
a. 496  b. 512  c. 672  d. 768  e. tpil njhpatpy;iy 
 

86. A mat of length 180 m is made by 15 women in 12 days. How long will it take for 32 
women to make a mat of length 512 m? 
a. 16 days   b. 12 days   c. 18 days   
d. 24 days   e. Answer not known 
180 kP ePsKs;s xU ghapid 15 ngz;fs; 12 ehl;fspy; nra;jdh;. 512 kP ePsKs;s xU 
ghapid 32 ngz;fs; nra;a vj;jid ehl;fs; MFk;? 
a. 16 ehl;fs;   b. 12 ehl;fs;   c. 18 ehl;fs; 
d. 24 ehl;fs;   e. tpil njhpatpy;iy 
 

87. A student gets 31% in an Examination but fails by 12 marks.  If the pass percentage is 
35%. Find the maximum marks of the Examination. 
a. 300  b. 400  c. 500  d.350  e. Answer not known 
xU khzth; 31% kjpg;ngz;fisg; ngw;W 12 kjpg;ngz;fs; Fiwthf ngw;wjhy; Njh;r;rp 
ngwtpy;iy. Njh;r;rp ngw 35% kjpg;ngz;fs; Njit vdpy; Njh;tpd; nkhj;j 
kjpg;ngz;fisf; fhz;f.  
a. 300  b. 400  c. 500  d.350  e. tpil njhpatpy;iy 
 

88. Which of the following, our Honourable Chief Minister of Tamil Nadu Thiru. M.K. 
Stalin on behalf of the Industries Department on 16.11.2021, introduced a new high 
grade cement. 
a. Dalmia cement   b. Maha cement  d. Valimai cement 

d. Ramco cement   e. Answer not known 
khz;GkpF jkpof Kjy;th; jpU. K.f. ];lhypd; 16.11.2021 md;W njhopy; tsh;r;rp 
rhh;gpy; Gjpa tif tzpfg; ngah; nfhz;l rpnkz;il mwpKfk; nra;jhh; 
a. lhy;kpah rpnkz;l;  b. kfh rpnkz;l;  c. typik rpnkz;l; 
d. uhk;Nfh rpnkz;l;   e. tpil njhpatpy;iy 
 

89. Which of the following organization calculates Gross domestic Product (GDP) in India? 
a. National Statistical Office  b. State Statistical Office 
c. Indian Statistical office   d. Reserve Bank of India 
e. Answer not known   
gpd;tUk; mikg;Gfspy; vJ ,e;jpahtpy; nkhj;j cs;ehl;L cw;gj;jpiaf; fzf;fpLfpwJ? 
a. Njrpa Gs;spapay; mYtyfk;  b. khepy Gs;spapay; mYtyfk; 
c. ,e;jpa Gs;spapay; mYtyfk;  d. ,e;jpa hprh;t; tq;fp 
e. tpil njhpatpy;iy 
 

90. The Malik – Fakhr- ud- din- Juna was the original name of the Sultan  
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a. Malik Kafur  b. Mohamed Bin Tughlaq   c. Mujahid 
d. Nizam shah  e. Answer not known 
khypf; gf;fpUjPd; [Pdh vd;gJ ve;j Ry;jhdpd; ,aw;ngah; 
a. khypf;fG+h;   b. KfkJ gpd; Jf;sf;  c. K[hfPj; 
d. eprhk; ~h   e. tpil njhpatpy;iy 
 

91. Secular in real sense means 
a. One religious State  b. Does not have a State religion 

c. Two religious State  d. Multi religious State 
e. Answer not known 

 kjr; rhh;gw;w vd;gjd; cz;ikahd nghUs; 
 a. xU kj muR   b. mur kjk; vd;w xd;W ,y;iy  c. ,U kj muR
 d. gy kj muR  e. tpil njhpatpy;iy 
 
92. From which of the following Constitutional Amendments ‘Education’ was transferred 

from State List to Concurrent List? 
a. 24th Amendment Act b. 25th Amendment Act c. 42nd Amendment Act  
d. 44th Amendment Act e. Answer not known 
fPo;f;fhZk; ve;j murpayikg;Gj; jpUj;jr; rl;lj;jpd; %ykhf “fy;tp” vd;gJ khepyg; 
gl;baypy; ,Ue;J nghJg;gl;baYf;F khw;wg;gl;lJ? 
a. 24 -tJ jpUj;jr; rl;lk;  b. 25-tJ jpUj;jr; rl;lk; c. 42-tJ jpUj;jr; rl;lk;

 d. 44-tJ jpUj;jr; rl;lk;  e. tpil njhpatpy;iy 
 

93. Expand PURA 
a. Public Utilities Regulatory Authority 
b. Public Utilities Regulatory Act 
c. Providing Urban Amenities in Rural Areas 
d. Philippine Urology Residents Association 
e. Answer not known 
PURA  vd;gjd; tphpthf;fk; 
a. nghJg;gad;ghLfs; xOq;FKiw Mizak; 
b. nghJg; gad;ghl;L xOq;FKiwr; rl;lk; 
c. fpuhkg;Gwq;fspy; efh;g;Gw trjpfis toq;Fjy; 
d. gpypg;igd;]; A+uhy[p FbapUg;ghsh;fs; rq;fk; 
e. tpil njhpatpy;iy 
 

94. In Tamil Nadu ‘Stone Alignment Burial’ is found in  
a. Kodumanal  b. Kanchipuram  c. Adhichanallur 
d. Keezhadi   e. Answer not known 
fy;epWj;jp itf;Fk; kugpid jkpofj;jpy; fhzg;gLk; ,lk; 
a. nfhLkzy;  b. fhQ;rpGuk;   c. Mjpr;rey;Y}h; 
d. fPob   e. tpil njhpatpy;iy 
 

95. Marudu Pandiyars hanged at  
a. Virupakshi   b. Kalaiyar Kovil   c. Tiruppathur 
d. Kayatharu   e. Answer not known 
kUJ ghz;bah;fs; J}f;fpyplg;gl;l ,lk;  
a. tpUghl;rp   b. fhisahh; Nfhtpy;  c. jpUg;gj;J}h; 
d. faj;jhW   e. tpil njhpatpy;iy 
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96. ___________ was the major sources of irrigation in Tamil Nadu during 2020-21  
a. Canal Irrigation   b. Tank Irrigation  c. Tube well Irrigation 
d. Open well Irrigation  e. Answer not known 
2020-21 -Mk; Mz;by; jkpo;ehl;bd; Kf;fpa ePh;g;ghrd Mjhukhf _________ ,Ue;jJ. 
a. fhy;tha;g; ghrdk;   b. ePh;j;Njf;fg; ghrdk; 
c. Foha;f; fpzw;Wg; ghrdk;  d. jpwe;jntsp fpzw;Wg; ghrdk; 
e. tpil njhpatpy;iy 
  

97. Which of the following pair is correctly matched? 
I. Mettur  - Hydro electric project 
II. Neyveli  - Thermal Project 
III. Kalpakkam - Ceramics 
IV. Tirupur  - Leather products 
a. I only correct   b. I and II are correct c. I and III are correct 
d. III and IV are correct  e. Answer not known 
fPo;f;fz;ltw;Ws; ve;j ,iz rhpahfg; nghUj;jg;gl;Ls;sJ? 
I. Nkl;^h;  -  ePh;kpd; jpl;lk; 
II. Nea;Ntyp  - mZciy jpl;lk; 
III. fy;ghf;fk; - tPl;L cgNahfg; nghUl;fs; 
IV. jpUg;G+h;  - Njhy; nghUl;fs; 
a. I kl;Lk; rhp   b. I kw;Wk; II rhp  c. I kw;Wk; III rhp 
d. III kw;Wk; IV rhp   e. tpil njhpatpy;iy 
 

98. Study the following sequence and answer: 
D Rs. = 8Q + $O-@Z% 6d #A? 7 >G B 
Which element is 8th to the left of 17th element, if the above sequence is written in 
reverse order? 
a. -  b. d  c. 6  d. %  e. Answer not known 
fPo;f;fz;l njhliuf; ftdpj;J tpilaspf;fTk;. 
D Rs. = 8Q + $O-@Z% 6d #A? 7 >G B 
Nkw;fz;l njhlh; tykpUe;J ,lkhf vOjg;gLk;NghJ 17tJ cWg;gpd; ,lg;Gwkhf 
mike;j 8tJ cWg;G vJ? 
a. -  b. d  c. 6  d. %  e. tpil njhpatpy;iy 
  

99. A garden roller whose length is 3 m long and whose diameter is 2.8 m is rolled to level 
a garden.  How much area will it cover in 8 revolutions? 
a. 212.2 m2   b. 252.2 m2   c. 211.2 m2 

d. 211.5 m2   e. Answer not known 
ePsk; 3 kP kw;Wk; tpl;lk; 2.8 kP cila xU rkd;gLj;Jk; cUisiaf; nfhz;L xU 
Njhl;lk; rkd;gLj;jg;gLfpwJ. 8 Rw;Wfspy; vt;tsT gug;ig cUis rkd; nra;Ak;? 
a. 212.2  kP2   b. 252.2 kP2   c. 211.2 kP2 
d. 211.5 kP2   e.  tpil njhpatpy;iy 
 

100. If the sides of a triangle are 3 cm, 4 cm and 5 cm, then the area is  
a. 3 cm2  b. 6 cm2  c. 9 cm2 d. 12 cm2 e. Answer not known 
xU Kf;Nfhzj;jpd; gf;f msTfs; 3 nr.kP.> 4 nr.kP kw;Wk; 5 nr.kP vdpy; mjd; 
gug;gsT 
a. 3 nrkP2  b. 6 nrkP2 c. 9 nrkP2 d. 12 nrkP2 e. tpil njhpatpy;iy 


